Pacuet epmbl

Kupcarnos M.H. Pemeonuk. TeopeTrnueckass mexanuka c. 37.

Bapuanr 1 Bapuaunr 2
C5. C5.
P = 20kH, P = 80kH,
T Q= 90xH, Q = T0xH,
| F = 35kH, F = 44kH,
a = 65°, a=50°,
N T B=15°
3 3 3 3
Bapuaur 3 Bapuanr 4
C5. 5 C5.
B
3| P = 20xH, « P = 90kH,
Q = 40kH, Q = 50xH,
| F = 53kH, 2 F = 52kH,
= a = 65°, a = 55° |
ﬁ\i(x ﬁ 5:450 ) l_, F" (x@ ﬂ:15° .
3 3 3 3 3 2 2 3
Bapuanr 6
C5. C5.
P = 40kH, P = 80kH,
Q = 40kH, 2 (@ = 80xH,
F = 66kH, F = 75kH,
a=T75°, » a=50°,
B =30°. lﬁ ﬁ\<\ lﬁ B =30
3 2 2 3
Bapuanr 7 Bapuantr 8
5q
C5. C5.
P = 20kH, 3 Q‘ P = 30xH,
Q = 60kH, Q = 80xH,
F = T4kH, F = 97kH,
a=65°, piy a="70°,
i5 A% I B =30°. l*ﬁ “ B =45
2 3 2 3 2 3
C5. C5.
P = 20kH, P = 30kH,
@ = 80xH, Q@ = 60kH,
F = 110kH, F = 10kH,
a = 65°, a="T0°,
B =45° . B=30°.




Bapuanr 11 Bapuanr 12
g C5.
7 C5. P = 90xH,
2 P = 20kH, @ = 90xH,
| Q = 80kH, F = 12kH,
F =11kH, a =55,
lﬁ ﬁy‘ lﬁ ' a =65 . B=15°.
3 2 2 3
Bapuant 13
C5. C5.
P = 70kH, P = 20kH,
@ = T0xH, @ = 50xH,
F = 13kH, F = 14kH,
o =45%, a=65°,
B8 =45° . B =45° .
Bapuanr 16
C5. C5.
P = 50kH, P = 10kH,
Q = 90xH, Q = 90xH,
F = 15kH, F = 16xH,
o =35, a=60°,
B8 =30°. B =30°.
Bapuant 17 Bapuanr 18
C5. 50 C5.
P = 60kH, 1 P = 80kH,
Q = 30xH, Q = 90xH,
F = 17xH, 2 F = 18kH,
o =40° piy o =50°,
g=30°. || 7 lﬁ ﬁ\io‘ . B =45 .
2 3 3 2
Bapuanr 20
C5. C5.
P = 60kH, P = 50kH,
Q = 50xH, Q@ = 90xH,
F = 19kH, F = 20xH,
o =40, a=35°,
B8 =30°. B =30°.




Bapuant 21 Bapuant 22
C5. C5.
P = 70kH, P = 40xH,
Q = 30xH, 2| @ = 30kH,
F = 21kH, { F = 22kH,
a=45°, a="175,
s=s | || ® {5 FX{‘ 5 B=130°.
3 3 3 3
Bapuanr 24
C5. C5.
P =10kH, P = 20xH,
Q = 80kH, 1 Q = 30kH,
F = 23kH, | F = 24kH,
a=60°, a=65°,
B =45° . Lsﬁ o7 B B=15°.
3 2 2 3
Bapuaur 25 Bapuanr 26
5Q
C5. ) C5.
P = 40kH, P = 90kH,
@ = 60xH, 3 @ = 90xH,
F = 25kH, F = 26kH,
a="75, a =55°,
g=30°. || 7 lﬁ ﬁ\ia 113 ' B =30° .
2 2
Bapuanr 28
C5. C5.
P = 20kH, P = 20kH,
2 Q = 60kH, | Q = 30kH,
{ F = 27kH, | F = 28kH,
a =65, a=65°,
. 113 ﬁ\i‘l lﬁ% 8 =15°. lﬁﬁ o7 B 8 =15°.
2 3 3 2 3 2 2 3
Bapuanr 29 Bapuanr 30
C5. C5.
P = 40kH, P = 80kH,
Q = 70xH, Q = 30kH,
F = 29kH, F = 30xH,
a="75, a=50°,
ﬂ — 150 . ﬁ = 450 .




OtBeThl

Xa Ya Rp S So S3 Sa Ss

1 72.142 59.852 35.162 14.514 52.363 -49.399 15.162 20.000
2 -95.897 16.837 158.751 73.247 -126.491 146.410 73.706 160.000
3 5.886 71.642 44.677 | -189.548 | 136.692 52.015 20.124 -71.642
4 -78.122 0.632 209.023 58.947 -107.407 78.754 7.615 -119.023
5 -51.723 80.027 43.724 31.623 -42.426 0.000 -50.027 -19.379
6 21.073 115.942 | 141.511 | -424.534 | -137.543 | 547.556 | -486.045 41.353
7 -83.235 74.318 2.749 -103.863 18.029 39.153 0.000 20.000
8 23.393 161.228 46.491 -86.228 23.322 69.737 74.659 -86.569
9 | -103.057 | 47.504 35.622 7.189 17.466 -15.000 130.638 20.000
10 | -55.382 40.483 -1.086 16.358 -34.755 -0.815 47.802 30.000
11 -84.649 0.985 48.985 -80.985 22.854 72.957 9.969 48.985
12 -93.816 -5.360 171.897 22.742 99.099 18.276 -95.360 | -171.897
13 40.305 26.769 171.921 3.079 144139 | -105.000 0.000 56.616
14 29.439 26.079 61.965 14.766 53.919 -26.237 -20.882 53.921
15 | -90.230 9.428 54.176 37.500 -62.500 0.000 58.481 -15.022
16 | -85.942 | -43.436 | 32.292 5.000 66.795 40.865 13.856 10.764
17 | -39.004 74.464 41.463 42.164 -34.747 19.852 10.927 32.249
18 -75.210 | 136.573 | -26.424 -48.513 49.473 -58.780 13.789 -80.000
19 | -57.856 77.551 29.662 36.224 19.623 12.856 -5.338 -14.831
20 61.559 32.353 124.118 110.227 -2.630 2.352 129.512 11.472
21 | -40.830 82.540 57.309 2.026 -38.948 40.364 19.035 70.000
22 20.287 44.130 72.120 31.225 -125.858 | 119.400 40.000 0.000
23 45.069 -15.815 | 112.302 154.254 -79.176 -5.000 83.259 0.000
24 -39.121 -6.972 60.959 -67.454 69.825 21.102 21.751 -20.000
25 45.491 115.859 18.289 0.000 50.000 -30.000 -40.000 24.148
26 63.029 69.472 | 176.826 -25.787 59.151 61.903 -8.596 90.000
27 | -69.366 -0.681 49.622 -188.109 -16.291 214.974 29.622 55.135
28 17.144 18.387 54.754 -29.032 -32.639 38.016 12.984 -44.754
29 60.109 70.472 55.657 95.622 48.257 -105.889 40.000 133.029
30 | -40.497 | 148.654 13.114 17.939 -72.614 13.114 74.327 -53.333




